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1.

for this?

(A)  Momentum 

(B) 

(C)  Gravity

(D) 

(E)  None of these

2. Which one of the following has the highest 

(A)  Peat 

(B)  Lignite

(C)  Anthracite 

(D)  Bituminous

(E)  None of these
3 

3.

(A)  0.108 kg (B)  1.1 kg

(C)  2.4 kg (D)  2.2 kg

(E)  None of these

(A)  Troposphere (B)  Exosphere

(C)  Mesosphere (D)  All of these

(E)  None of these

(1) Manuring (2) Sowing

(A)  2  1  3  4 
(B)  1  2  3  4
(C)  2  3  4  1
(D)  3  1  2  4 
(E)  None of these

(A)  7-1 × 12-1 (B)  7  × 12-1

(C)  7-1 × 12 (D)  All of these

(E)  None of these
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(A)   (B)   

(C)   (D)  
(E) None of these

(A)  10 days (B)  6 days

(C)  days (D)   days
(E)  None of these

9. 

the pole?

(A)  12 sec (B)  39 sec
(C)  40 sec (D)  30 sec
(E)  None of these

(A)  4 (B)  5 
(C)  8 (D)  12
(E)  None of these

 

(A)   

(B)  

(C)   

(D)  

(E)  None of these

61 16 54 45 ? 81
(A)  38 (B)  18
(C)  16 (D)  15
(E)  None of these

Answers
1. (B) 2. (C) 3. (A) 4. (C) 5. (B) 6. (A)

7. (A) 8. (D) 9. (B) 10. (B) 11. (D) 12. (B)


